2.3 Standard Form
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WARM Up

Solve the following for C.

y=13x+C
BB + 13C
127 " 1"

42y = —16x + 2C

9
—32y = Zx + 8C

8 =t
3V =5 %
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ESSENTIAL QUESTION

What information does the standard form a linear equation reveal about a

NEEDED VOCAB:

» Standard form of a

Linear Equation

line?

GoAL: "l caN...
Write and Graph linear
equations in Standard Form.”

If you only like two different types of music and you are making your favorite
songs playlist of 20 songs, what are two possible combinations of the two song

types?

Let's say song type one is y and song type two is x. Plot the two combinations you have
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Let's say song type one is y and song type t\évo is x. Plot the two combinations you have
on a graph.

Based off your two points, find an equation
of possible song combinations.

S’a—%*lo ‘3-,

X+ '31,7_0

ST form

ExAMPLE 1 Understand Standard Form of a Linear Equation

A. Hanna will spend 5150 on music festival tickets. Reserved seat
tickets cost $25 and general admission tickets cost $10. How can
you represent the situation with a linear equation?

196 ‘l'&\-\$ f’Lg/lse‘d— )(:rejwvcd sest
j“’/“t“-“-?‘d’ 313:0.5&4'

ZS X + lOto =150
s T
L"’/ X )O/g:) “k\ Miney.

Standard Form of a linear equation is Ax + By = C, where A, B, and C are
integers, and A and B are not both equal to 0.
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B. Hanna will spend $150 on music festival tickets. Reserved seat tickets cost
$25 and general admission tickets cost $10. What information does the
standard form give you that the slope-intercept form does not?

15X t 10y=\50 Whn X=8  who y=#
7., +|o.o =190 15 #4850
b/,-ls— %= 6

Mo '\+ 7
"’“54— each st

@) ‘;) ((' )QS et Cen be

\qausk-\r.
1. The equations y = —2.5x + 15 and 25x + 10y = 150 represent Hanna's

music festival situation. Is it easier to find the x-intercept of the graph of the
equations using slope-intercept or standard form? Explain.
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EXAMPLE 2 Sketch the Graph of a Linear Equation in Standard Form

What is the graph of 3x — 2y = 97 o

|
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2. Sketch the graph of 4x + 5y = 10.

T E b o4& Lo ob

EXAMPLE 3 Relate Standard Form to Horizontal and Vertical Lines
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A. What does the graph of Ax + By = C look like when A = 0?
6*3 ',C.C
A3° B Horizontnt line
R y-intercest.
B. What does the graph of Ax + By = C look like when B = 0?

A)(:C-
)(', % W‘hC‘\'\ h"&

T X- n-\—cru(?'\'-

3. Sketch the graph of the equation.

a.3y = —18
b.4x = 12
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ExXAMPLE 4

Tamira is making trail mix. She hw_tp spend on a mixture of

almonds and cashews and wants about the same a t of
e

almonds as cashews. How can she determine how many pounds

of each kind of nut to buy? X A
" L'O M S c‘.s.sw S

HO- Xt 10y

MR PN
Uo=8x 4o -y 4
;t'x '1 2 y 2

2 (55 cashes S P
2.5 s o Almemds e 5

4. Almonds cost $8 per pound and cashews cost $10 per pound. How does
the equation change if Tamira has $60 to spend on a mixture of almonds and

cashews? How many pounds of nuts can she buy if she buys only cashews?
Only almonds? A mixture of both?
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Standard Form of a Linear Equation

m The standard form of a linear equation is useful
¢ to find the x- and y-intercepts easily.

* to write the equation of a vertical or horizontal line.

The x-intercept is the value of x when y = 0, and the y-intercept is the value
of y when x = 0.

AT Ax + By = C, where A, B, and C are integers, and A and B are not both equal to 0.

[ GRaPH Ry
2 The y-intercept is 1.
The x-intercept is —%. / =
-4 o 2 4
/ -2
-4

HOMEWORK

PGc. 73
10, 12, 13-21 obD, 23-29, 31, 34-40

EVEN, 41, 45
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